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THE WINNING EDGE DEFENCE ACADEMY (WEDA)
SAINIK SCHOOL, CLASS - 6TH

MOCK PAPER - 01 (QUESTION PAPER)

Time: 2 Hrs 30 Min

¥AY: 2 ¢ 30 fA=Te
Sections / eTHTIT Questions / 9T Maximum Marks / 37f&&dd 31&
Mathematics / 3TfOre 50 50 x 3 = 150
General Knowledge / GTHTT AT 25 25 x 2 =150
InteIIigence/ﬂ'{ﬁﬂ'ﬂT 25 25 x 2 =50
English / 3735 OR Hindi / &< 25 25 x 2 =50
Total / Fd 125 300

Instructions:

All questions are compulsory and objective type with Multiple Choice Answers.

There is no negative marking.

In case of ambiguity on any question, the English version be taken as final.

Please use black/Blue ball point pen to completely darken the circles corresponding to the
correct answers.

The last blank pages of the question paper are meant for Rough Work.

The candidate must darken only one circle. If more than one circle is darkened, it will be
treated as a wrong answer.

Please return the answer sheet to the invigilator after the exam is over. The question booklet
can be carried along with by the candidates after the completion of the exam.
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SUBJECT - ‘A’ : MATHEMATICS

1. When 30 is multiplied with a natural number and then divided by the same natural number. The
result comes to be -

o 30 1 el wrep T wear & apom foram siar € 3R R 3t wipfos wear @ fsnfaa frar s,
Y aRoTe JTaT s -

a) 30 b) 60 c) 15 d) none of the above
2. MMCDLIX is equal to

MMCDLIX fFaa& streR 872

a) 2,549 b) 2,500 c) 2,459 d) 2,561

3. The sum of two-digit numbers and the number obtained by interchanging its digits is 110. If the
difference between both digits is 4. Find the number.

Y 37hT Y TEATHT FT I 31 3TF 31T T HTTH A ol @ IIod TE&AT 110 §1 I St st F =

T 3} 4 §, @) T&AT AT AT
a) 73 and 37 b) 46 and 64 c) 82 and 28 d) 55 and 55
a) 73 3137 b) 46 31T 64 c) 82 3T 28 d) 55 3i¥ 55

4. The cost of fencing a square park at the rate of Rs15 per m is Rs3600. Find the area of the square
park.

15 39 3 HeX F1 eT ¥ TF TATFHR U1 FT 913 A Y AT 3600 FIA 1 TATHIT I T ATl
AT FifST)

a) 2450m? b) 3600m? c) 1520m? d) 4500m?
a) 2450 T HeT b) 3600 T HieT c) 1520 T Hrex d) 4500 F3T Hex
5. Find A, if A x 12.5 = 1500

IfT A x 12.5 = 1500 § aY A AT AT
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a) 100 b) 120 c) 600 d) 42

6. The LCM of two prime numbers is always their

3 T T3 BT LCM TET IS e
a) Product b) Sum c) Difference d) Quotient
a) U d b) TRT ¢) 3iR d) HITHd

7. Simplify: 2.222 + 22.22 + 222.2 + 2222
TRAPBY: 2.222 +22.22 +222.2 + 2222
a) 2234.739 b) 3444.222 c) 2468.642 d) 3241.523

8. The age of three brothers are in the ratio 1:2:3 and the average age of all three brothers is 52. Find
the age of the youngest brother.

T YISl B} 3 BT U 1:2:3 B MR A1 UTSAT B 3T 3MMg 52 8 1 TIA BIE UTE $I 3T
d FifoE|

a) 32 b) 40 c) 26 d) 35

9. Convert the ratio 125:350 in its simplest terms.

SUTH 125:350 B TXATH ¥4 ¥ Ufkafdd &1

a)4:13 b) 5:14 c) 14:5 d) 13:4

10. How many stones of 0.48m? can be fixed on a wall of length 12m and breadth 14m.
12 Hiex T 3R 14 Hiex N AR W 0.48m? & fhd TR Y ST IHhd &2
a) 200 stones b) 350 stones c) 420 stones d) 240 stones

a) 200 YR b) 350 URR C) 420 U} d) 240 YR
11. What is the value of 5% +6 % -8 %

5% +6%-8 % PT A HTg?

a)3 % b) 5/6 c)1% d)2%
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12. The cost of 2 cycles are Rs 5500. If Rahul has Rs22000, then how many cycles can he buy?

2 TT3fddl $t PHAd 5500 TUY 21 T I§A & UTH 22000 FUA &, A 78 fha-t Gsferd Wi
P12

a)4 b) 7 c)2 d) 8

13. Two crore forty three lakhs seventy is written as

A dai a@ R B fRrarwmarg

a) 2,04,00,700 b) 2,43,00,700 c) 20,43,070 d) 2,43,00,070

14. Find the greatest number that will divide 47, 76, 83 leaving remainder 1, 2, 3 respectively.
I8 YaA 951 QT T PIOTT Sl 47, 76, 83 BT fAHTITT A U HHT: 1, 2, 3 AT I |
a)4 b) 6 c)7 d) 2

15. If a square of a number is added to the square of 15, the result comes out to be 901. Find the

number.
gfe fopedt e & o #Y 15 F T A sirsT SIE aF ufkurd 901 31T 8 | HEAT {Id B
a) 26 b) 24 c) 34 d) 16

16. Rohan saves Rs.560 and spends 65% of the total salary. Find the total sum of money he earned?
e+ 560 YT TATAT & 3R H& a0 BT 65% Td BT & | ST Fd fha=il Y=IRTRT 3ifofa P2
a) Rs.1600 b) Rs.2400 c) Rs.3250 d) Rs.4000

17. Sam sells a chair for Rs.420, he makes a loss of 20%. To gain 20%, he must sell the chair at what
price?

Y Th HAUT 420 TUA A I°AT 8, I 20% BT THATH 81dT 8 | 20% ATH FHM & fore 3 i for
DI W 9l A1ige?

a) Rs.550 b) Rs.740 c) Rs.630 d) Rs.580

18. A car covers 360 m in a minute. What will be its speed in km/hr?

T BR TP e A 360 Hiex @1 gt a0 Sl 31 g} 71fl fpedi/der & @ gifie
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a) 15 km/h b) 21.6 km/h c) 14.5 km/h d) 20 km/h
a) 15 fopHi/eeT b) 21.6 fopHt/der ¢) 14.5 fdHl/ger d) 20 fpHi/eer
19. Find the angle which is equal to its supplement.
IE D101 T PIT i) 30 TP & SRR 2|
a) 45° b) 90° c) 60° d) 75°
20. How much water does a cubic swimming pool contain which has a total surface area of 1014m??
T TTHR AT qar § fbam1 urh 81 Govdr & e oo yiia 8w 1014 a1f Hiew 82
a) 1728m?3 b) 3375m3 c) 2197m3 d) 1000m?
21. Convert 35290 Paise into Rs.?
35290 T B TUA | dga?
a) X35.290 b) X352.9 c) X0.3529 d) X3.529
22. The whole numbers and their negatives are called
Ui GRS IR TAF BUTHS S SIS
a) Prime numbers b) Natural numbers c) Integers d) Even numbers
a) 3T &Y b) WPl T ) Ui d) T e
23. Which of the following is divisible by 10 and 5?
T dd e 10 iR s A fRIusa 32
a) 5675 b) 37490 c) 4825 d) 84578
24. Which of the following comes between 1.5 and 2.5?
fFafafea ¥ 9 o4 1.5 3R 2.5 & fia raT g2
a) 1.25 b) 5 c) 1.67 d) 2.7
25. Find the greatest common divisor of 1450, 2040, 1400?

1450, 2040, 1400 HT HETH TTd HTSTP JTd HHo1Q?
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a)2 b) 6 c)9 d) 10

26. In a school, there were four bells which rang after a time interval of 6 minutes, 18 minutes, 20
minutes, 24 minutes respectively. If they ring together at 12:00 pm, then at what time will it ring
together again?

TP W@d A IR it ff oY wusn: 6 e, 18 fie, 20 e, 24 fiFe & Twg SiaRTa & @1
gordl f 1 T 12:00 T9 TH T4 Forell §, A 2 bR & Forey vy e Ty st

a) 2:00 pm b) 5:00 pm c) 4:00 pm d) 6:00 pm

a) GIUgY 2 I b) TMH 5:00 o1 ¢) MM 4:00 91 d) ]1MH 6:00 91

27. For class decoration, all the students of class 10th contributed a total amount of Rs 4489 such that
each student of the class contributed as much money as the number of students of the class. Find the
total number of students in the class.

H&T Pt Jolae & T, e 108 & 1 B A Fol 4489 FUA BT AN U1, SHUPR HaT P
TS BT 1 BT F B B TBAT P RIS YA BT ARTSH 3411 Hem § S &1 pd J=T
RIGEIS LY

a) 37 b) 73 c) 53 d) 61

28. Time taken to complete work by 5 women is 14 hours. If the number of Women are increased by
2, then how much time will be taken to complete the same work?

5 Afgeai gRT &0 GRT B | o ar 9wy 14 12 g1 afe afgemsi ot W@ 2 3 ¢1 =g,
At THT BTH RTHIA | fod=11 99 T

a) 10 hours b) 7 hours c) 8 hours d) 12 hours
29. What is the ratio between a kg and a quarter of a kg?

TS [BaRma 3R T DTS fFatmy & dia &7 3ruTd 1 82

a)1:4 b) 4:1 c)2:3 d)3:2

30. What is 12% of 15% of 8 kg 500g?

8 f&T 500 I & 15% BT 12% FIT §?

a) 350g b) 245¢g c) 560g d) 153g
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a) 350 UH b) 245 UTH ¢) 560 UTH d) 153 9H
31. The simple interest at x% for x years on sum of Rs100 will be equalto
100 ¥UY BI AR R x T & T x% PR A ATYURVT AT ____ & IRIGR SR
a)Sl=x b) SI=x? c)SI=100 d) SI = 100x

32. A train of 145m long crosses a bridge of 320m in 31 sec. Find the speed of the train.

145 Wiz doll TH IS 320 HeX @ Yd ) 31 Jbs A UR Ht g1 ISt Bt Afd 719
Biforg|

a)15m/s b) 21 m/s c) 18 m/s d) 7m/s
33. The angles of a quadrilateral are 110°, 105°, 75° and x°. Find the fourth angle.
TP IgUT & BIUT110°, 105°, 75° 3T x° & | YT HI0T J1d PO |

a) 65° b) 70° c) 30° d) 120°

34. The length of a plot is twice its breadth, and the area of the plot is 128m?2. Find the perimeter of
the plot.

TS Wic P dars ITB! ASTE A ST @ 3R Wi BT &7we 128 a1 Hiex 81 wile &1 uRkA™
1 Biforg)

a) 48m b) 50m c) 62m d) 35m

35. A cuboidal wooden block contains 36m? wood. If it is 4m long and 3m wide, then find the height?

TP TATHTPR dhs! & SIh A 36m* dhS! gl TS T8 4m TET 3R 3m ANST §, Y TTP! HATS
TTd PIfeTe?

a)4m b) 3m c)2m d)5m
36. Solve: 45 kg 100g-35kg 50 g

T BY: 45 fHUT 200 99 - 35 fFuT S50 T

a)10kg50g b) 10 kg c) 10 kg 100g d) 12kg

a) 10 fp3r s0 I b) 10 foum c10fdmmicou™m  d) 12fdwm
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37. A tetra pack contains 150ml of juice. How many such packs are needed to fill a jug of capacity 1.5I1?
TS ¢l 0P | 150mI [ 81 1.51 &HAT AT o1 Bt URA P g ¥ fobaq A6 1 sma=asman gl
a)8 b) 9 c) 10 d) 6
38. What is the perimeter of a regular hexagon with side 5 cm?
5 Tt YT aTa e Frafira ey &1 ufamg | g
a) 24cm b) 30cm c) 15cm d) 67cm

a) 24 T4t b) 30 T c) 15 I d) 67 HT

39. Rahul bought 6 kg of rice for Rs 2640. He decided to sell a whole quantity of rice at Rs 330 per kg.
Find the profit or loss percentage.

RTEA 2640 ¥ U 6 forell ara@ @ilar| 39 919 &1 T 1 $i 330 $UA Ul foveft R a9
&1 Bar forar | @1 ar g1fa ufa=ra 39 #ifse)

a) 20% Profit b) 20% Loss c) 30% Profit d) 25% Loss
a) 20% <Y b) 20% BT ¢) 30% MY d) 25% 81
40. Simplify: 3 [ % +4/3 (12 x 5 + 5 x10)]

TRADY: 3[% +4/3 (12 x5 + 5 x 10)]

a) 160 b) 340 c) 482 d) 564

41. The sum of HCF and LCM of 120, 75and 40is ____.

120, 75 3R 40 P HCF SR LM BTTATT 81

a) 455 b) 125 c) 605 d) 250

42. Convert 560 dag and 600 g into mg.

560 37T 31X 600 ITH B fAreiiuma & ged |

a) 6200 mg b) 620000 mg c) 62000 mg d) 6200000 mg

a) 6200 fH@IH b) 620000 fHEEE  ¢) 62000 e d) 6200000 facUH
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43. What is the product of (-1)? and (-1)37?
(-1)2 3R (-1)*” BT UG T 3?
a) -37 b) -1 c)1 d) 37

44. A motorist at a speed of 65 km/hr covers a distance in 4 hours and 24 minutes. Find the distance
covered.

TS Hiex a1a® 65 frtit/der &t 1fd 9§ 4 69 3R 24 fire # ver gt 99 ovar g1 99 &1 78 g
I BTl

a) 320km b) 225km c) 368km d) 286km

45, Find the length of a train which crosses a bridge of 160m in 18 sec at a speed of 54 km/hr.

TP YIS D s 1d DIoTe ot 54 forwi/er &t 1fd & 160 Hiex o Ya 1 18 AHs T IR
CEGikA

a) 110m b) 200m c) 220m d) 120m

46. Name the angle which is more than 180° and less than 360°.

€ BV 91T 1 180° A 31fIP 9UT 360° A BT B

a) Straight Angle b) Complete Angle c) Reflex Angle d) Obtuse Angle
a) FeTHIT b) guf @ror ¢) ufaad @1 d) 31T BT

47. The length of a rectangle is increased by 20% and breadth is decreased by 20%. What will be its
effect on its area?

TP 3ATad P TdTS 20% &1 31 STl @ MR NSTS 20% °eT &Y HATd 2 1 TIPT TSP &Thd U HT
U UST?

a) Increased by 4% b) Increased by 20%
c) decreased by 4% d) Decreased by 20%
a) 4% 1 g b) 20% &1 gfS
c) 4% P HHI g3 d) 20% P HHT

48. Arrange the following into ascending order:

frufefad o smRig v A srafRua #¥
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45900, 45999, 45990, 45090, 45909

a) 45090<45900<45909<45990<45999 b) 45909<45990<45999<45090<45900
c) 45999<45990<45900<45909<45990 d) 45999<45990<45909<45900<45090

49. What is the sum of CMVIIlI and DXLV?
CMVIII 3R DXLV BT IHT RIT 272
a) 1453 b) 1560 c) 1455 d) 1553

50. If the product of two fractions is 15/14. If one of the fractions is 3/7, then what is the other

fraction?
gfe gt el ST UFwa 15/14 B 1 AR SR A tar U 3/7 8, A gt Ria s &2
a) 7/4 b) 12/7 ¢)5/7 d) 5/2

SUBJECT - ‘B’ : HINDI

farder (weaT 51 / 55) IEATA FY LATIGH Tgot F 18 19 f§T 710 geaAf & 3w difoe

59 WOR # o1 € WaFo A¢1 g1 U Y YO Waa A et sty waw ¢ ueiuee &
HATAT AT HeIIoT H Shaer Aaer e safFaat ) 3 st e @ S g1 5w safeaat
F AT FIA UTHAT §, A Tfaser RN FAE A g I Hr i Fedr 7, Sew
AT FATT Y HS HT § 3R 3TF FeAqor & aF F 39 AereT AT &1 el a7 &
& gagS |AE 3¢ Pl F I @ 761, F 3 Fa & 3R w5 102 AW gAS w@rf H
qST A€ T, afed gaEd & T S aret i @ g ¥

51. e & ¥ frwd qom &g A el ¥
a) 33 b) &7 c) HEle cafFd d) S & FIS AGT
52. fher HIAl F weT Ire @ ST §?

a) TATST HoIT0T Hed dlel T b) Tarft &r
c) =i &r d) e

53. fhaedhr gfassr FF TR €7 AT Far 87

a) TSIl 36T TATS HedIoT g b) foIeTehT 3ccRd T IaT &I HEIAT YT &
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c) foTaT 3egeT AT Aol el & d) 3WIed H T IS oar
54. faper @l & g Bt B2

a) Tardt &r b) GERI & foIw Sl arell &hr
RG] d) e &r

55. GOR & WaFo fFa 7 AT A §2

a) 4T A b) FHIST FeATT A c) T H d) 3IH q HIS A&
=1 (.3 56- 59) 1 aTa a1 Wsg AYE & forg, fow 71w faweal & & SRa s ST AT HR
56. ST ST = ST b

a) foraf=g b) 3151 c)Sig d) 3R

57. SOETHIE TS B

a) Ty b) &Ioh c) ST d) SFTY

58. Thep B AT SIF 9TdT §IAAR

a) TRd b) IR c) 3Rd d) §gb

59. e arr ¥ sree fopan 2

a) T T b) T8 T RR Gerara &

¢) A Qe UGl § d) A S GRERT S arerEre 8

60. 3faf¥al BT qafaard T & -

a) M, 3{THTR b) Geall, 3T ) GER, TH d) U, Rguy

61. TS’ &1 YATgard! T8l 8-

a) AT b) T ¢) TR d) TS

62. e & & -1 X ' 3iT@’ 1 ygiaardt 781 82

a) 3iféi b) =& o) aiRkE d) &7

63. fRm w1 3 -

a) BN AISA  b) fage 0 TR d) I
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64. TSI BT gY TG T T et S T 2

a) Y@ T b) ST 1 FTe AT ¢) TRIIST BT d) SR BTa BT
65. "THHTA HERT YeTax &1 Het 3rd 8-

a) 3 fasT b) SR B ASI BT ) AB B AR  d) 3G BT AR
66. UTet BT AT | T MUY § -

a) Tl e b) RgT=eH SEISE] d) 3iferes Fereper
67. St TdYem o Il 7 g1

a) 3fafd b) 3G ¢) Sfwitof d) 3

68. BT & qa - aTaT & AT T sg T FRM?

a) Yol b) I o) T d) P

69. 'gX B! T I F W TH A 2 -

a) X b) HiasTaeRT <) GEA T d) Rt

frd=T (W, 9. 70-71) ® 3T 7T S¥[s Rreql & T Y5 Xreql BT AU Q|
70. ORI

a) R b) RRI& ) URIg d) TRrg
71. ABR
a) AER b) WER o) faER d) fodgrR

72. TSR T JAH-fIUE -
a) TS BT R )T FRTW  ¢) TS MW d) TR HI S
73. '3RPR ' § B T IUFT I 22

a) Y b) Y c) 31 d) 31w
74. SHETEN &1 I fadg Bifore?

a) BFET + A b) BT+ ST <) B + AN d) B + a9
75. 3R FIRRT a1 BT TS|
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a) fRuma b) fowrnfeaies ) TEREIYD d) fopar-fa=iyor
SUBJECT - ‘C’ : GENERAL KNOWLEDGE

76. Who wrote our National song?

TART TS AT et foram?

a) Bipin Chandra Pal b) Swami Dayanad Saraswati
c¢) Bankim Chandra Chatterjee d) Rabindranath Tagore
OCIEGEFEIC] b) TATHT cATeIE, TXETAT

c) SfhaT Ig TSl d) Wity &MY

77. The oldest Veda in the world is?

fareg w1 ge} T ag HlT AT R?

a) Sama Veda b) Yajur Veda

c) Rig Veda d) Atharva Veda
a) GTHAC, b) TSTdE

¢) FIdc d) 37¥qde,

78. First Individual Olympic medal winner from Independent India is?
I AR FT IgaT ST TF9Td el 9% UG Aeidr Hia §?

a) Rajyavardan Singh rathore b) K.D. Jadhav

c) Abhinav Bindra d) Neeraj Chopra
a) Togasi= f&g Tels NEEECIEE]

c) 3T fogr d) ST Argsr

79. Who among the following is the Supreme Commander of Indian Armed Forces?

Arafaf@a & ¥ sy geares Q31 F1 Fafea FATST FIT &2

a) President of India b) Vice President of India
c) Defence Minister of India d) Finance Minister of India
a) ¥R & TSCTTY b) HRA & 3UTSCUTT

¢) ¥R & &I HAT d) R & Tad #7AT
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80. The motto of the Indian Air Force is:

AR AT T 7 e e AT 8

a) Nabha: Sparsha Diptam b) Sarvatra Sarvottama Suraksha
¢) Valour and Wisdom d) Touch the sky with glory

a) 197 T9L &ied A b) I Haifera FI&T

¢) R 3R gefereaT d) IR & AT ITEHATH Y Fell

81. Who is the present Chief of Indian Army?
HIAT VAT & AT TG HT 82
a) Gen.Upendra Dwivedi b) Gen.Manoj Pande c) Gen.Anil Chauhan  d) Gen.A.K.Singh

a) STl 35 GIAAGT b) T RAAANTUE  ¢) Felkel AfAA g d) SR T.h.Rg

82. is the highest peak of Africa.

3ShYeRT Y e St N
a) Mt. Everest b) Mt. Denali c) Mt. Kamet d) Mt.Kilimanjaro
a) A3 TalEe b) AT3C ST c) AT3C HTAT d) A3 fohfaF=IRY

83. The Taj Mahal is located on the banks of which of the following rivers of India?

AreHed IRd f AfRRT A T T ad Fae R Rua

a) Ganga b) Yamuna c) Godavari d) Cauvery
a) 7ram b) AT c) IMeTaRT d) IR
84. Which one of the following is not a draught animal?

Prfafaa & ¥ i a1 v ARaES deq a8 &

a) OX b) Donkey ¢) Horse d) Sheep
SEC) b) aTem c) BrsT d) &3

85. Blue Revolution is related to which of the following?

www.wedacareer.com




THE WINNING EDGE

~—— DEFENCE —

el wifar rafaf@a # @ fraa wefaa d?

a) Fish production b) Edible oil production
c¢) Milk production d) Jute production

a) 7SIl 3c41Gel b) @I AT 3cUTCA

¢) qY 3cqreed d) SIC 3c4TEsd

86. Which of the following is not a mosquito borne diseases?

R da s oA aRadaad

a) Malaria b) Dengue Fever c) Sleeping sickness d) Filariasis

a) Falam b) SIFER c) FAgr T d) BERT
87. Which is the largest gland in human body?

AT R A AR T A FhT A R?

a) Pituitary gland b) Liver ¢) Stomach d) Lungs

a) egelrafy b) T )T d) B

88. Which of the following is a non-communicable disease?
frfef@a # aFia ari-aadi aord?

a) Measles b) Cancer c) Malaria d) Tuberculosis
a) @I b) FEX c) FaRET d) & 9T

89. Which is the highest mountain peak of Himalaya in India?

R & AT A Fed SN da DA Fla @

a) Nanda Devi b) Bandarpunch ¢) Kanchenjunga d) K2
a) slgrdr b) ST ¢) AT d) 2
90. Where is Nalanda University situated?
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a) Sikkim b) Gujarat c¢) Uttar Pradesh d) Bihar
a) feas b) T[T ¢) 3R U d) ¥R
91. Earth rotatesalong ______ direction.
gedt_ Ramd e R
a) East to West b) South to North c) North to South d) West to East
a) @ ¥ 9R=H b) ST&T0T & 3 c) IR A gfaror d) aRaA § qd
92. ‘Tarapur’ nuclear power plant is located in the state of?
ARTYT TATV] ot 6= vy T o R @2
a) Maharashtra b) Gujarat c) U.P. d) Tamil Nadu
a) AGRTSE b) I[ERTT c) U.P. d) afae=rg

93. Where is the Ozone layer present?

3aiteT I Fgi Alog &2
a) Mesosphere b) thermosphere c) Stratosphere d) Troposphere
a) AARHRR b) YHATEHRR c) GHAT Ao d) &S

94. Which state among the following has adopted Sanskrit as its one of the official languages?
fFrafafea ¥ 3 fra v 3 TR et snfieTRe® e & =0 § Sro-man 32

a) Uttar Pradesh b) Jharkhand c¢) Uttarakhand d) Punjab

a) SIS b) IRTES ¢) SIRES d) USTTe

95. The Brain fever which affects young children is

B I B YHIId B Il A RTSP SR gl

a) Malaria b) Tuberculosis c) Typhoid d) Encephalitis

a) Hafar b) &7 IAT CELIES] d) uharsey

96. The first Indian to get the Oscar Award was .
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TP RIPR UM 918 g HRAT i A2
a) Raj Kapoor b) Bhanu Athaiya ¢) V.S. Naipaue
a) YT PR b) HT 312 o) d.uw. AT

97. Which river of India is known as ‘Sorrow of Bengal’?

YRA B DI A Td! S BT P P A9 A ST ST g2

a) Ganga b) Yamuna c) Damodar
a) T b) T ¢) TR
98. The crops which are sown in summer season called?
fion B A 91E A qTell Bl B FTPEd 82

a) Kharif b) Zaid c¢) Cash

a) WI® b) WG o) TG

99. Which is the largest tribal group of India?

YRT BT I TST TG TG P AT 32

a) Bhil b) Gond ¢) Gurjar

a) Hid b) e ¢) ToR

100. The study of Moon is called?

TSHT & ST P T BT oATal 82

a) Selenology b) Cosmology ¢) Planetology
JSNEINIE] b) SIRITUS fasTr c) & fas

d) Minir sen

d) R a9

d) Hoogly

d) gref!

d) Rabi

d) Xt

d) Santhal

d) YT

d) Pedagogy

d) Rrem=m

SUBJECT - ‘D’ : INTELLIGENCE

101. Find the missing term: 1800, 1760, 1720, 1680, ?
W UG TTd DIOIT: 1800, 1760, 1720, 1680, ?

a) 1640 b) 1620 c) 1630
102. Find the missing term:1, 4, 9, 16, 25, 36?
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W UG F1d B3: 1, 4, 9, 16, 25, 362
a) 64 b) 49 c) 81 d) 121
103. ‘A’ is B’s father but B is not A’s son. Who is B?
‘A, B BT AT 8 AP B, ABT TS 81 B P B?
a) Daughter b) cousin c¢) daughter-in-law d) wife
a) ¥t b) TRRT UTS ) 98 d) Teit
104. The man is related to house in the same way the bird related to-
o TR e 1R A Hefta 3 S veR velt fw wafta 2
a) cave b) nest c) tent d) water
a) I b) G ¢) % d) gt
105. Complete the following analogy: Flood : drought:: genius: ?
mmwﬁ:w:w::uﬁm: ?
a) Foolish b) Intelligence c) Think d) cruel
a) T b) & ) | ) FR
106. Complete the series: MM, NN, OO, PP, ?
T Ui H¥: MM, NN, 0O, PP, ?
a) QQ b) RR c)bD d) SsS
107. In a queue Shashank is 7" from the either end. How many boys are in the queue?
TP HdR A IRMF 1 BR F 78 ™M R 31 HaR § fraa asd 22
a) 12 b) 14 c) 13 d) 15
108. At the time of sun set Rishika is facing north. Her shadow will be towards-
Ui & 7T BB IR 1 3R 4 & Tl 8| TP ot fh iR gife

a) South b) North c) East d) West

a) Gf&rm b) ST o d) ufgH
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109. Choose the word which least like the other words in the group.

I8 TIsg T ol TYE P 3T W] | T HH fraar Jaan gl
a) PEEL b) FRY c) BAKE d) ROAST
a) Bl b) el ¢) HepT d) YT

110. which of the following diagram indicates the best relation between flower, lily, jasmine

Frufufad & @ o1 91 oM B, Rreh, 99 & S ved o1 9y gufars

a) b)
Ofe

OO0 T am

111. If ‘A’ means add, ‘B’ means ‘subtract’, ‘C’ means multiply and ‘d’ means divide, then what would
be the answer of the equation?

c)

gfe A" @1 3 Sie, B ®1 3 wer, ‘¢ &1 3 U AT 3R o BT 3 YT AT E, Al
THHRT BT IR T ERM?

20D4C2A4
a) 12 b) 14 c) 18 d)17
112. If CATTLE is related to HERD then LION is related to : CATTLE: HERD :: LION : ?

afe e gfs & e & Y IR R e 8w - g 9k

a) SWORM b) FLOCK c) MOB d) PRIDE

a) P b) IS o) g LIS

113. If in a certain code DEAF is written as 3587 and FILE is written as 7465 then IDEAL will be written
as?

gfe fop=ft ffa HYs A DEAF B 3587 30X FILE BT 7465 for@T SITdT @ oY IDEAL DY fh g YR forar
SITET?

a) 43586 b) 63548 c) 43568 d) 48536

114. Choose the correct alternative that has the same relation to EPV as BMJ is to EPM
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g faweu g forae epv & a8t WaY 3 S BMI BTEPM T B

BMJ: EPM :: EPV :?

a) DNM b) HSY c) HSW d) GTV

115. Find the missing term: 15: 225 :: 21: ?

ﬂqqﬁﬁlﬁm: 15: 225:: 21: ?

a) 441 b) 421 c) 431 d) 451

116. If in a certain code BRL is coded as DTN then MBS will be coded as?

gfe foeedt fAfda Y A BrRL &Y DTN foraT SITdT 2 o1 mBs F fFd U R forar smemm?
a) OCuU b) ODU c) OEV d) ODN

117. If x stands for addition, = stands for subtraction then 4 x 8+~ 5="7?
Uﬁ'xﬁsﬂﬁﬁﬁg%, xﬂﬂx’rﬂfﬂ?ﬁT%ﬂ’Mx 8+5=?

a)4 b) 8 c)5 d)7

118. In a certain code ARTICLE is coded as ATRCILE. How is PICTURE coded in that code?

T AIf3a &S # ARTICLE BT ATRCILE for@T SraT 81 S ®18 # picTURE &) 5T YR ferar
SITET?

a) PIERTUC b) CIPTURE ¢) PRTIEUC d) PCIUTRE

119. Choose the OPTION which is different from the rest

9% R g S a1 A 3@ @
a) Pencil b) plate c) book d) pen
a) Uy b) &ic ¢) &I d) Had

120. Two positions of a dice are shown below. If 1 is at the top what number will be at the bottom?

M o v A &) FRufat gafd 1€ B afR 1 9o R & & e R et sen ety

Splap
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a)2 b) 3 c)5 d)6
121. Find missing number?
o =T [T B2

12 18 30 16 32 40 36 18 27

a) 18 b) 6 c)9 d) 12

122. How many rectangles are there in the given figure?

3t 13 epfa A foram smaa &2

a)4 b)5 c)6 d)3

123. Choose the correct water image of the given question image from amongst the four alternative:

fau T IR fawen # & fau v uy fox &1 98t wa o= g

X

a) (a) b) (b) c) (c) d) (d)

124.

a) (a) b) (b) c) (c) d) (d)

125. Select one of the answer figures which replaces the mark of interrogation?
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" g & VI IR 314 91 SR TPl 6 I Th BT T9 B2

Question Figures

| Al e @l e
Answer Figures B

[

Q|| =| Q| |®@

L J
{a) (h)

a)(a) b) (b) c) (c) d) (d)
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